Unt3 Day O Review WorksSheet
What Did the Policeman ell The Burglar in the Bathoom?
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art 1. Write the equation of the line indicated. Part 1 Answers
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i Equation of AB ek = () G - My=35x+1
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0 Equation of cD \“* W& 5= mg i
NG N > 24 y=-3x-2
| Equation of EF g £ 5 g
H 20 y=-3x +1
: eTT 7 N 2
$ Equation of G = R
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Part 2. Write the slope of a line parallel o the given line. Part 2 Answers
Ty=Zx-2 Uy=8-3x g2 gZ 10 -2
0 ~5x +y=12 h 4x + 7y =21 65 21 -2 26 -3
Part 3. Write the slope of @ line perpendicular fo the given line, Part 3 Answers
Ey=-2x+1 Hy=6x+11 82 23-% 18-%
0 2x + 5y = 40 T 8x -3y =15 62 4% 15-3
Part 4. Write an equation for the line that is paraliel o the given line
and thet contains the given point. Part 4 Answers
{y=38x-4;(27) ly=-~4x+1 E$y=-§x»w3
?ﬁ’yzméx-é-ﬁ;(ti,mﬁ) 1z y*-:"-%x-—l 0 y=38x+1
€ 4x + y =-9;(-2,9) qy=-x+2 Q9 y=-4x—-7
R -5x + 3y = 6; (-3, -8) 15 ym«—%x»-?; 2T y = —-x — 4
Px+y=7(-40) Ty=3x-2 i4y=-g~x-8
Part 5. Write an equation for the line that is perpendicular to the given
line and that contains the given point. Part 5 Answers
iéy=~~%x+4;(2,5) ‘ 14 yﬂw—g-x-i-? 3ym-§x+4
"%‘yz%x-s;(z,«s) 20 y=-4x -5 25 y=3x-5
@’y:%+15:(~3,7) Qyzw—%xﬁ-S 12 y—':mg-x%-z
M 3x + 2y = -10; (-9, -2) 19 y=-4x -3 Ty=3x-1
N 5x - y =16;(0,0) 22y=-~éx Sy=-§-x+6
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